Comprehension Quiz

1.) Match the places to the correct country. 3.) Tick whether each statement is true or false.
) ( 1
Big Ben N. Ireland Statement True False
g ~ 7 There are no beaches in Brighton.
) ( 1
castles Wales Ireland is in the United Kingdom.
J (. J
: : The Giant’s Causeway is a mountain.
Giant’s
England :
Causeway J \ J You can travel by bus, train and plane.
) ( N\
mountains Scotland
J & J

4.) What does it say you can learn about on your trip?

2.) How many countries make up the United Kingdom?




Comprehension Answers

1.) Match the places to the correct country. 3.) Tick whether each statement is true or false.
B ( ) S
Big Ben N. Ireland tatement True False
J - J There are no beaches in Brighton. v
B ( )
castles Wales Ireland is in the United Kingdom. v
— The Giant’s Causeway is a mountain. v
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Causeway ) L ) You can travel by bus, train and plane. v
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mountains Scotland
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4.) What does it say you can learn about on your trip?

2.) How many countries make up the United Kingdom? history
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